Word Problems

Multiplication & Division Mix

. O boats were in the harbour. Each boat had 7 people aboard. How many people were there in total?
1

2. Vol has % packets of chocolates. Each packet contains 7 chocolates. How many chocolates does

she have altogether?

3. Violet is organising her collection of 42 colouring pencils. She will place them into groups of 6. How

many groups of pencils will she have?

4 A store sells basketball cards in packs of 8. Mason buys & packs. How many basketball cards will

he get?

5. In the skateboarding competition, each trick is worth 6 points. Julie scored a total of 36 points.

How many tricks did she do?

%‘

-

EASYTEACHING.NET ey



Word Problems Answers
Multiplication & Division Mix

0 boats were in the harbour. Each boat had 7 people aboard. How many people were there in

total? I

35 people

Val has ' packets of chocolates. Each packet contains 7 chocolates. How many chocolates does

she have altogether?

28 chocolates

Violet is organising her collection of 42 colouring pencils. She will place them into groups of 6. How

many groups of pencils will she have?

7 groups of pencils

A store sells basketball cards in packs of 8. Mason buys & packs. How many basketball cards will

he get?

40 cards

[n the skateboarding competition, each trick is worth 6 points. Julie scored a total of 36 points.

How many tricks did she do?

6 tricks
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